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. sinl =

1 1 1 1 1
(i) (ii) (iii) (iv) (v) ——
cosl tanl cotl cosecl secl
. CosM =
1 1 1 1 1
(i) - (ii) (iii) (iv) - (v)
cotM sinM tanM cosecM secM
. tanK =
1 1 1 1 1
(i) (i) (iii) (iv) (v)
sinkK cotK cosK cosecK secK
. cotC=
1 1 1 1 1
(i) - (ii) (iii) (iv) (v)
secC cosecC tanC cosC sinC
. secC=
1 1 1 1 1
(i) (ii) (iii) (iv) (v)
sinC tanC cotC cosC cosecC
. cosecM =
1 1 1 1 1
(i) - (ii) (iii) (iv) - (v)
sinM cotM secM tanM cosM

. If sin7x = cos((x—6)), thenx=

(i) 13 (ii) 11 (i) 10 (iv) 14 (v) 12

. If cos5x = sin((x+18)), thenx =

(i) 11 (ii) 10 (iii)) 15 (iv) 13 (v) 12



9. If tan5x = cot((x+24)),thenx=

(i) 9 (i) 10 (i) 14 (iv) 11 (v) 12

10. If cotdx = tan((x+20)), thenx =

(i) 14 (i) 15 (i) 11 (iv) 16 (v) 13

11. If sec7x = cosec((x+18)), thenx=

(i) 8 (ii) 10 (iii) 7 (iv) 9 (v) 12

12. If cosec7x = sec((x—6)), thenx =

(i) 15 (ii) 9 (i) 11 (iv) 12 (v) 13

13. Which of the following are true?

a) tan37° = cot53°
b) sin46° = cos44°
C) cos43° = sin43°
d) sin40° = cos40°
e) sec55° = cosec35°
f) sin29° = cos61°
g) sin50° = cos40°

(i) {d,b} (ii) {a,b,efg} (i) {cfg} (iv) {c,a} (v) {cde}

14. Which of the following are true?

a) cos(90 — ©) =cos®
b) tan(90 — 6) = — tan®
C) cosec(90 — 0) =secH
d) cos(90 — 8) =cot6
e) sec(90 — ©) =cosecH

f) cot(90 — 6) =tan®

(i) {b,ce} (ii) {cef} (iii) {be} (iv) {d,af} (v) {ac}

15. Which of the following are true?

a) cos(90 — 6) = — cosH
b) sin(90 — 6) = —sin®
c) tan(90 — ©) =cotO
d) cos(90 — 8) =sin6
e) sin(90 — 6) =cos6

f) cot(90 — 6) =tan®

(i) {c,d,ef} (ii) {b,d} (i) {a,b,e} (iv) {af,c} (v) {a,c}
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